DIFFERENTIATION RULES

GENERAL FORMULAS

d
L E(C)=O

3 L110) + 9] = £ + ¢

INVERSE TRIGONOMETRIC FUNCTIONS

_r
1—x?

1

d
19— (sinx) =

d
22. — =
o (csc™x) T

HYPERBOLIC FUNCTIONS

d
25. . (sinh x) = cosh x

d
28. T (csch x) = —csch x coth x

INVERSE HYPERBOLIC FUNCTIONS

d, ... 1
3|.dx(81nh x>_m

1

d
34, % )= =
dx (esch™) |x[+/x2+ 1

d 1,
2. = [ef(9] = of ()

4 2100 — o] =10 — g9

d 1

20. < (cos™lx) = ———
o A
d _ 1

23. E(sec lx) = Py 1

26. % (cosh x) = sinh x

29. % (sech x) = —sech x tanh x

d 1
32. — ) = ——

™ (cosh™x) NS

4

dx

35.

www.engclubs.net

d , , d | f&) | _ g0f'x) — fx)g'x)
-5, . [f(x)g(x)] = f(x)g'(x) + g(x)f'(x) (Product Rule) 6. = [ ) } = TR
7. () = F(g(9)g'(x) (Chain Rt 8 L (x) = e ower Rule)
EXPONENTIAL AND LOGARITHMIC FUNCTIONS
9. ~dd;(e’“) =¢* 10. —gx-(a")=a"lna
d 1 d
ll.glnfx{—; I2.E(logax)—xlna
TRIGONOMETRIC FUNCTIONS
A ) = 4 — g 4  ceo?
13. o (sinx) = cos x 14. I (cos x) sin x 15. T (tan x) = sec®x
16. % (csc 1) = —esex cot 17. L (secx) = secx tan 18, % (ot ) = —ese?
- (esex CSC X ot x - = (secx) = secx tanx -y (cotx) = —cscx

d 1
21, — (tan™) =
(tan™'x) [+ 2
d 1
24, < (cot™ly) = ———.
dx (cot™) 1+ x?

d
27. e (tanh x) = sechx

d
30. o (coth x) = —csch’x

33.

36.

(Quotient Rule)




